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The Costs of Production 

This topic will give you a better understanding of the decisions behind the supply curve. 

In addition, it will introduce you to a part of economics called industrial organization—the study of how firms' decisions about prices and quantities depend on the market conditions they face. 

What Are Costs? 

We begin with the firm's objective. To understand the decisions a firm makes, we must understand what it is trying to do. 



What is a firm's profit?  The amount that the firm receives for the sale of its output  is called its total revenue 

The amount that the firm pays to buy inputs (flour, sugar, workers, ovens, and so forth) is called its total cost. 

Profit is a firm's total revenue minus its total cost. 



Profit = Total revenue - Total cost. 



total revenue:   the amount a firm receives for the sale of its output total cost:      the market value of the inputs a firm uses in production profit:          total revenue minus total cost 



explicit costs:  input costs that require an outlay of money by the firm implicit costs:  input costs that do not require an outlay of money by the firm The distinction between explicit and implicit costs highlights an important difference between how economists and accountants analyze a business. 

Economists are interested in studying how firms make production and pricing decisions. 

Because these decisions are based on both explicit and implicit costs, economists include both when measuring a firm's costs. 

By contrast, accountants have the job of keeping track of the money that flows into and out of firms. As a result, they measure the explicit costs but usually ignore the implicit costs. 



 La distinzione tra costi espliciti e impliciti evidenzia un importante differenza tra  economisti e ragionieri nell'analizzare un business. 

 Gli economisti sono interessati a studiare come le aziende possano  prendere le decisioni sulla produzione e i prezzi. 

 Poiché queste decisioni sono basate su entrambi i costi espliciti e impliciti, gli economisti 

 includono  entrambi i costi di un'impresa. 

 Al contrario, i contabili hanno il compito di tenere traccia dei flussi di denaro  delle imprese. 

 Come risultato, essi misurano i costi espliciti ma di solito ignorare i costi impliciti. 









production function 

production function 

the relationship between quantity of inputs used to make a good and the quantity of output of that good This relationship between the quantity of inputs (workers) and quantity of output (cookies) is called the production function. 









 The production function in panel (a) shows the relationship between the number of workers hired and the quantity of output produced. Here the number of workers hired (on the horizontal axis) is from the first column in Table 1, and the quantity of output produced (on the vertical axis) is from the second column. The production function gets flatter as the number of workers increases, which reflects diminishing marginal product. 

 The total-cost curve in panel (b) shows the relationship between the quantity of output produced and total cost of production. Here the quantity of output produced (on the horizontal axis) is from the second column in Table 1, and the total cost (on the vertical axis) is from the sixth column. The total-cost curve gets steeper as the quantity of output increases because of diminishing marginal product. 

The marginal product1 of any input in the production process is the increase in the quantity of output obtained from one additional unit of that input. 



1  When the number of workers goes from 1 to 2, cookie production increases from 50 to 90, so the marginal product of the second worker is 40 cookies. And when the number of workers goes from 2 to 3, cookie production increases from 90 to 120, so the marginal product of the third worker is 30 cookies. 





The Various Measures of Cost 



total cost can be divided into two types. Some costs, called fixed costs, do not vary with the quantity of output produced. 

fixed costs include any rent he pays because this cost is the same regardless of how much Some of the firm's costs, called variable costs, change as the firm alters the quantity of output produced. 

The Cost of Capital as an Opportunity Cost 

An important implicit cost of almost every business is the opportunity cost of the financial capital that has been invested in the business. 

Economic Profit versus Accounting Profit 

Now let's return to the firm's objective: profit. 

 Because economists and accountants measure costs differently, they also measure profit 

 differently: 





An economist measures a firm's economic profit as the firm's total revenue minus all the opportunity costs (explicit and implicit) of producing the goods and services sold. 

An accountant measures the firm's accounting profit as the firm's total revenue minus only the firm's explicit costs. 











Fixed and Variable Costs 

Some costs, called fixed costs, do not vary with the quantity of output produced. They are incurred even if the firm  produces nothing at all. 



Conrad's fixed costs include any rent he pays because this cost is the same regardless of how much coffee he produces. E.g. Similarly, if Conrad needs to hire a full-time bookkeeper to pay bills, regardless of the quantity of coffee produced, the bookkeeper's salary is a fixed cost. The third column in  shows Conrad's fixed cost, which in this example is $3.00. 

Some of the firm's costs, called variable costs, change as the firm alters the quantity of output produced. Conrad's variable costs include the cost of coffee not vary with the quantity of output produced. They are incurred even if the firm produces nothing at all. 





Total cost (TC) means just what it says: the total cost of producing any given rate of output. Total cost is divided into two parts, total fixed costs ( TFC)  and total variable costs  (TVC). 

Fixed costs are those costs that do not vary with output; they will be the same if output is 1 unit or 1million units. These costs are also often referred to as 'over- head costs' or 'unavoidable costs'. All of those costs that vary positively with output, rising as more is produced and falling as less is produced, are called variable costs. In our present example, since labour is the variable factor of production, the wage bill would be a variable cost. 



Variable costs are often referred to as 'direct costs' or 'avoidable costs'. The latter term is used because the costs can be avoided by not hiring the variable factor. 

Average total cost (ATC) is the total cost of producing any given output divided by the number of units produced, or the cost per unit. ATC may be divided into average fixed costs (AFC) and average variable costs (AVC) in just the same way as total costs were divided. 



Marginal cost (MC) is the increase in total cost resulting from raising the rate of production by one unit. The marginal cost of the tenth unit, for example, is the change in total cost when the rate of production is increased from nine to ten units per period. 







In the short  run, whit only one factor variable, there is only one way to produce a given output: by adjusting the input of that factor until the desired rate of output is achieved. 

Thus, once the firm has decided on rate of output, there is one technically possible way of achieving it. 

By contrast, in the long run , all factors are variable. This  means that  firms in the long  run  must choose the nature  and amount of plant and equipment, as  well as the size  of their labour force. 

Long run  decisions are risky because the firm must anticipate what methods of production will be efficient, not only today, but also for many years in the future, when the  costs of labour and raw materials will no doubt have changed. 

  

  Le decisioni di lungo periodo sono fra le più difficili e importanti che l'impresa prende. 

 Sono difficili perché l'impresa deve prevedere quali metodi di produzione saranno efficienti non solamente oggi ma anche negli anni a venire, quando il costo del lavoro e delle materie prime potrà mutare. Sono difficili perché l'impresa deve stimare il livello desiderato di produzione futura. Il settore è in crescita o in declino? La quota di mercato dell'impresa tende a crescere o a ridursi? 

 Emergeranno nuovi prodotti che renderanno il prodotto dell'impresa meno utile di quanto un'estrapolazione delle vendite passate possa lasciar intendere? 

  



  

 

Type of Cost mathematical description 

 

 

 

 

 

 

IMPUTED COSTS2 

The costs of using such factors are called imputed costs. They are reckoned at values reflecting what the firm could earn if it shifted these factors to their next best use. 



 The firm's own funds  What is the opportunity cost to a firm of the financial capital it has tied up in its operations of, say, £100,000? The answer can best be broken into two parts. First, ask what the firm could earn by lending its £100,000 on a riskless loan to someone else, e.g. by purchasing a government bond which has no significant risk of not being repaid. Say this is 8 per cent per annum. 

This amount is called the pure return on capital. It is clearly a cost to the firm, since the firm could close down operations, lend out its money, and earn an 8 per cent return. Next, ask what the firm could earn in addition to this amount by lending its money to another firm where the risk of default was equal to the risk of loss in the firm itself. Say this is an additional 6 per cent. 

This is called the risk premium and it is clearly also a cost. 



2 2 Costs in economic theory refer to opportunity costs.These are correctly measured by the price paid for hired factors, but they must be imputed for the costs of using factors owned by the firm. The cost of firms' own capitalincludes the pure return—what could be earned on ariskless investment—and a risk premium—what could be earned over the pure return elsewhere in the economy on an equally risky investment. Profits are the difference between revenues and costs. 



 The use of the firm's own capital equipment  The cost of using the capital equipment the firm owns, such as buildings, machinery, and office equipment, consists of the loss in the value of the asset, called depreciation, caused by its use in production. Accountants use various conventional methods of calculating depreciation based on the price originally paid for the asset. While such historical costs are often useful approximations, they may, in some cases, seriously differ from the depreciation required by the opportunity-cost principle. 









 La misurazione del costo opportunità dell'impresa 

 La determinazione economica dei costi è ispirata da un principio unitario, comune a tutte le situazioni; esso viene talvolta indicato con il termine di costo per chi usa (user costì, ma è più comunemente chiamato costo opportunità, 

 Il costo dell'utilizzazione di qualche cosa in una determinata attività economica è rappresentato dal beneficio perso per (dal costo opportunità di) non averla utilizzata nel suo uso alternativo migliore. 

 In linea di principio la misurazione del costo opportunità è pertanto agevole. L'impresa deve assegnare a ciascun fattore produttivo utilizzato un valore monetario pari a ciò che essa sacrifica per poter usare quel fattore produttivo. L'attribuzione dei costi è la più semplice possibile quando l'impresa acquista un fattore produttivo su di un mercato concorrenziale e utilizza interamente la quantità acquistata del fattore produttivo nel corso del periodo di produzione. Le materie prime acquistate dall'impresa rientrano in questa categoria. Se l'impresa paga 80 sterline la tonnellata il carbone che utilizza, essa sacrifica la sua possibilità di acquistare qualcos'altro con quelle 80 

 sterline e pertanto il prezzo di acquisto è in questo caso una misura ragionevole del costo opportunità relativo all'utilizzo di una tonnellata di carbone. 

 Per i fattori di produzione presi in affitto la situazione è identica. 

  

 Il costo per l'utilizzazione di tali fattori viene designato con il termine di COSTO IMPUTATO. Essi sono calcolati sulla base di valori che riflettono l'ipotetico guadagno che l'impresa conseguirebbe 

 impiegando questi fattori nel loro miglior uso alternativo. Imputazioni di costo di una certa importanza sorgono dall'impiego di denaro da parte del proprietario dell'impresa, dall'ammortamento degli impianti e dei capitali fissi, dalla necessità di compensare il rischio sostenuto nonché da quella di valutare qualsiasi particolare vantaggio (quale può essere, per esempio, un brevetto o una franchigia) di cui l'impresa può godere. 

 L'esatta imputazione dei costi è necessaria affinché l'impresa possa individuare la più vantaggiosa linea di produzione. 



 Ammortamento degli impianti. 

 Il costo per l'uso dei capitali fissi di proprietà dell'impresa, quali gli edifici e i macchinari, è rappresentato dalla perdita di valore cui essi sono soggetti in seguito al loro uso nell'attività produttiva, e che viene indicato con il termine AMMORTAMENTO. I contabili usano diversi metodi convenzionali per il calcolo dell'ammortamento sulla base del prezzo inizialmente pagato per l'acquisto dell'attività. Mentre sovente questi costi storici rappresentano delle utili approssimazioni, in certi casi essi possono differire sensibilmente dalla determinazione dell'ammortamento richiesto dal principio del costo opportunità. 





The use of the firm's own capital equipment 

The cost of using the capital equipment the firm owns, such as buildings, machinery, and office equipment, consists of the loss in the value of the asset, called depreciation, caused by its use in production. Accountants use various conventional methods of calculating depreciation based on the price originally paid for the asset. While such historical costs are often useful approximations, they may, in some cases, seriously differ from the depreciation required by the opportunity-cost principle. 

 

Production, costs, and profits 

 

  

A FIRM'S profits are the difference between the revenues it received from selling its output and its costs of producing that output. 



We have said that profit is the difference between revenue and cost. Any rate of output will have a set of inputs associated with it. To arrive at the cost of producing this output,a value must be put on each of the separate inputs used. The assignment of monetary values to physical quantities of inputs is easy in some cases and difficult in others. All economic costing is, however, governed by a common principle, which is sometimes called user cost but is more commonly called opportunity cost: 





THE production function relates inputs to outputs. It describes the technological relation between what is fed into the productive apparatus by way of materials and the inputs of factor services and what is turned out by way of product. When using this function 

q=q(f1 ,…fm) 

1



We can best focus on essentials by dealing with only two inputs: labour, to which we give the symbol L, and capital, to which we give the symbol K. 

 (raggruppiamo tutti gli altri input in due categorie: lavoro, L, e capitale, K. La funzione di produzione diventa allora) 

This means that we are ignoring land and all intermediate inputs  to deal with the simplified production function: 

q = q(L,K) 



The short run The short run is defined as the period of time over which the inputs of some factors, called fixed factors, cannot be varied. The factor that is fixed in the short run is usually an element of capital (such as plant and equipment), but it might be land, or the services of management, or even the supply of skilled, salaried labour. 

What matters is that at least one significant factor is fixed. In the short run, production can be changed only by using more or less of those inputs that can be varied. 



The  long run The long run is defined as the period long enough for the inputs of all factors of production to be varied, but not so long that the basic technology of production changes. Again, the long run is not a specific period of time,but varies among industries. 

The special importance of the long run in production theory is that it corresponds to the situation facing the firm when it is planning to go into business, or to expand or contract the scale of its operations. The planning decisions of the firm are made from among fixed technical possibilities but with freedom to choose whatever techniques, and hence factor inputs, seem most desirable. 

Once these planning decisions are carried out—once a plant is built, equipment purchased and installed, and so on—these factors are fixed and the firm makes its operating decisions in the short run. 

The very long run Unlike the short and the long run, the very long run is concerned with situations in which the technological possibilities open to the firm are subject- to change, leading to new and improved products and new methods of production. In the very long run, the production function itself changes so that given inputs of K and L will be associated with different amounts of output. 

The firm may bring about some changes itself, through its research and development; other changes may come from outside. 

We shall now study the firm's production possibilities,and its costs, under each of these 'runs'. 

  

 Il  BREVE PERIODO è definito come quell'arco di tempo in relazione al quale non è possibile variare la quantità disponibile di alcuni fattori produttivi, i cosiddetti FATTORI FISSI. Il fattore che è fisso nel , breve periodo è generalmente una componente del capitale dell'impresa (per esempio un impianto o un macchinario) ma potrebbe benissimo essere la terra, ovvero la capacità direzionale o addirittura l'offerta di lavoro qualificato, di lavoro salariato. 

 L'importante è che almeno un fattore significativo sia fisso. Assumiamo che nel nostro caso semplificato, descritto dalla funzione di produzione , sia il capitale il fattore fisso nel breve periodo. 

 Nel breve periodo la produzione può essere mutata solamente modificando la quantità impiegata di quei fattori che possono variare; sono, questi, i FATTORI VARIABILI. Nel nostro semplice esempio il solo fattore variabile è rappresentato dal lavoro. 

 Nel breve periodo, pertanto, q può essere variato facendo variare la quantità utilizzata di L, tenendo fisso K. 

 È importante osservare che il breve periodo non corrisponde a un prestabilito intervallo di tempo. 

 In alcuni settori produttivi il breve periodo può coprire un arco di tempo di molti anni; in altri, invece, esso può limitarsi a settimane o mesi. Nel settore dell'energia elettrica, per esempio, dove sono necessari tre anni e più per acquistare e installare un generatore di vapore a turbina, un imprevisto incremento della domanda comporterà un lungo periodo di tempo durante il quale la domanda in eccesso dovrà essere soddisfatta sfruttando nel miglior modo possibile l'impianto esistente. 











 Il LUNGO PERIODO è quell'arco di tempo sufficientemente esteso da consentire di variare tutti gli input dell'impresa, anche se non lo è abbastanza da consentire variazioni nella tecnologia di produzione. Nel nostro esempio semplificato in cui compaiono solamente due fattori, l'impresa varia il livello di output q nel lungo periodo variando la quantità impiegata sia di L che di K, data una certa funzione della produzione. Anche nel caso del lungo periodo non abbiamo uno specifico arco di tempo che lo individui; esso muta da settore a settore. 

 L'importanza particolare che riveste il concetto di lungo periodo nella teoria della produzione è data dal fatto che esso individua la situazione in cui viene a trovarsi l'impresa quando programma la sua entrata negli affari, ovvero l'espansione o contrazione della sua scala di operazioni. 

 Le decisioni di programmazione da parte dell'impresa sono prese nel contesto di possibilità tecniche determinate ma anche con la possibilità di scegliere i fattori produttivi che sembrano più convenienti. 

 Una volta che questi programmi vengono attuati — dopo la costruzione degli impianti, l'acquisto e l'installazione dei macchinari, e cosi via — l'impresa si ritrova con dei fattori fissi e pertanto prende decisioni operative tipiche del breve periodo. quantità di fattori fissi. Per semplificare l'esposizione, svilupperemo la nostra teoria limitatamente alla funzione di produzione , ipotizzando altresì che il capitale sia il fattore fisso e il lavoro quello variabile. 





(II lungo periodo) II lunghissimo periodo 

 A differenza del breve e del lungo periodo, il LUNGHISSIMO PERIODO si riferisce alle situazioni in cui le possibilità tecniche accessibili all'impresa possono mutare, situazioni caratterizzate quindi dalla comparsa di nuovi prodotti, dal miglioramento di quelli esistenti e da nuovi metodi di produzione. 

 L'impresa può essa stessa contribuire alla realizzazione di questi miglioramenti tecnologici, in modo particolare attraverso i suoi programmi di ricerca e sviluppo. Nel lungo periodo essa trasforma la sua funzione produttiva così che nella formula  q = q(L,K) agli stessi input di K e L 

 sono associati differenti output.  

 Nel lunghissimo periodo la stessa funzione di produzione cambia: il progresso tecnologico comporta che la medesima quantità di input è in grado di generare un più elevato livello di output. 





WE now know how to calculate cost, revenue, and profit. 

To discover which rate of output is the most profitable, firms need to know the cost and revenue associated with each rate of output 





 

Isoquants: an alternative analysis of the firm's long-run input decisions Un'analisi alternativa delle decisioni di lungo periodo dell'impresa per quanto concerne gli input THE long-run choices of factor proportions that we have I just studied can be shown graphically by using a new concept. This concept, which is called an isoquant, 



As we move from one point on an isoquant to another,we are substituting one factor for another while holding out-put constant. The marginal rate of substitution (MRS)measures the rate at which one factor is substituted for another with output held constant. Graphically, this is measured by the absolute value of the slope of the isoquant at a particular point. 

 

Isoquanti: 



La funzione della produzione e le scelte di lungo periodo che si prospettano all'impresa possono essere rappresentate graficamente utilizzando gli isoquanti. 





ISOQUANTS AND THE PRINCIPLE OF SUBSTITUTION 

Suppose that with technology unchanged—that is, with the isoquant map fixed—the price of one factor changes. 

Figure 11A.5 shows why the change in price changes theleast-cost method of producing a given ou tput. An increase in the price of one factor pivots the isocost line inwards and thus increases the cost of producing any output. It also changes the slope of the isocost line and thus changes the least-cost method of production. 

















An isoquant map 

 

 

 

 

 

An isoquant map shows a set of isoquants, one for each level of output. The figure shows four isoquants drawn from the production function and corresponding to 4, 6, 8, and 10 units of production. The higher the level of output, the further is the isoquant from the origin Isoquanti: un'analisi alternativa delle decisioni di lungo periodo dell'impresa per quanto concerne gli input 

 La funzione della produzione e le scelte di lungo periodo che si prospettano all'impresa possono essere rappresentate graficamente utilizzando gli isoquanti. 

  

  

 Un singolo isoquanto 

 La tabella 17.3 fornisce un'ipotetica illustrazione delle combinazioni di due fattori produttivi (lavoro e capitale) che consentono di produrre una data quantità di output. La tabella elenca alcuni dei metodi di produzione, indicati da una funzione di produzione e relativi tutti alla produzione di 6 unità di output. La prima combinazione dei due fattori produttivi usa una considerevole quantità di capitale (K) e una quantità molto piccola di lavoro (L). Scendendo lungo la tabella, il lavoro sostituisce il capitale in modo tale che il livello di produzione si mantenga costante. Alla fine della tabella abbiamo una combinazione in cui la maggior parte del capitale è stata rimpiazzata dal lavoro. Il saggio di sostituzione esistente fra i due fattori è calcolato nelle ultime tre colonne della tabella. Si osservi come il saggio di sostituzione decresce in valore assoluto man mano che ci portiamo verso il basso della tabella. 

  

  

 Modi alternativi di produzione di 6 unità di output 
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The definition of profits 

We have earlier defined profits as the difference between the revenue the firm gains from selling its output minus the costs of producing that output. 

Different definitions of profits are in use because of different definitions of costs. 

The accounting definition When firms report their profits, they use the accounting definition of costs which excludes both the opportunity cost of the firm's own financial capital and any risk premium. According to this definition, the firm's 'profits' are the return on its capital. 
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